AOA!
this is my todays ECO404 final paper.
it contains 

46 MCQs
1) 2 functions were given their derivatives were asked to find.
2) what is the usefulness of Game theory?
3) how oppurtunity cost is defined?
4) what is by-product?? give example
5) what are the characteristics of competitive cmpetition? discuss them
6) Why decision making is complicated in oligopoly as compared to other market structures?? dicuss
7) How Game theory helps in risk analysis?

Quiz No. 3 ECO404

Question # 1 of 10 ( Start time: 02:39:58 PM ) Total Marks: 1

Multiple equation econometric models consist of:

Select correct option:

            Equalities only

            Identities only

            Behavioral equations only

            Both Identities and behavioral equations

Question # 2 of 10 ( Start time: 02:40:51 PM ) Total Marks: 1

Profit is maximized where:

Select correct option:

            Marginal revenue = Marginal cost

            Marginal revenue = Average cost

            Marginal cost = Average revenue

            Average revenue = Average cost

Question # 3 of 10 ( Start time: 02:42:05 PM ) Total Marks: 1

If a firm takes opinion of different individuals for the purpose of forecasting, this is known as:

Select correct option:

            Personal insight approach to forecasting

            Panel consensus approach to forecasting

            Delphi approach to forecasting

            Time series analysis

Question # 4 of 10 ( Start time: 02:43:17 PM ) Total Marks: 1

Fluctuations should be random. It is the requirement of which of the following technique(s)?

Select correct option:

            Moving average technique only

            Exponential smoothing technique only

            Both moving average and exponential techniques

            Barometric technique

Question # 5 of 10 ( Start time: 02:44:32 PM ) Total Marks: 1

Non-price determinant of supply includes:

Select correct option:

            Prices of other goods or services

            Input prices

            Weather conditions

            All of the given options

Question # 6 of 10 ( Start time: 02:45:31 PM ) Total Marks: 1

If the percentage change in profit is Rs. 400 and percentage change in sales is Rs. 100 then what will be the degree of operating leverage?

Select correct option:

            1

            2

            3

            4

Question # 7 of 10 ( Start time: 02:46:43 PM ) Total Marks: 1

Given the Cobb Douglas production function: Q = ALaKb There will be decreasing returns to scale if:

Select correct option:

            a + b > 1

            a + b < 1

            a + b = 1

            a + b = 0

Question # 8 of 10 ( Start time: 02:47:37 PM ) Total Marks: 1

Y = a + bX + e "b" shows ----------------- in this regression equation.

Select correct option:

            Intercept

            Slope

            Elasticity

            Power

Question # 9 of 10 ( Start time: 02:49:01 PM ) Total Marks: 1

Given the marginal cost function, MC = 5Q2 – 10Q + 50, what is dMC/dQ?

Select correct option:

            5Q + 50

            10Q - 10

            10Q + 50

            5Q – 10Q

Question # 10 of 10 ( Start time: 02:49:44 PM )            Total Marks: 1

In which of the following cases, cost elasticity will be more than one?

Select correct option:

            When percentage change in cost is less than the percentage change in output

            When percentage change in cost is greater than the percentage change in output

            When percentage change in cost is equal to the percentage change in output

            When percentage change in cost is less than the percentage change in input

Question: 01

 Consider the following information of the firm:

 Total fixed cost = Rs. 350

 Price level = Rs. 20

 Average variable cost = Rs. 10

 Target profit level = Rs. 250

 From this information, calculate the break even level of output and target

 level of output.

 (Marks: 2.5+2.5)

 Question: 02

 You have given the following linear programming problem:

 Maximize Profit (π) = Rs. 20X + Rs. 8Y

 Subject to the following constraints:

 3X + 1Y + SA = 40

 2X + 2Y + SB = 25

 4Y + SC = 30

 The corner points are given as:

 Corner points X Y

 A 0 0

 B 7 0

 C 5 3

 D 2 7

 E 0 7

 From all this information, find the profit (Rs.) level at each corner point.

 (Marks: 5)

 Question: 03

 Given the total revenue and total cost functions:

 TR = 80Q – 0.00025Q2

 TC = 260,450 + 5Q +0.00035Q2

 Find the profit maximizing level of output under monopoly
Total 64 Questions out of which 56 MCQ'S,4 question of 3 marks and 4 of 5 marks.

3 Marks Questions:

1-Define economies of scope.why it is important for firms?

2-Differentiate between pure oligopoly and differentiated oligopoly?

3-What is transfer pricing ? why does the problem of transfer pricing arises ? discuss

4-Differentiate between replacement investment and cost reduction investment?

5 Marks Questions:

1-Why marginal decision making is complicated under oligopoly as compared to the market structure? discuss

2-Baumol's sales maximization model was criticized on what grounds? discuss?

3-Briefly discuss the basic valuation model of firm.How this model can be adjusted for risk?

4-Given the following total revenue and total cost function of a firm

TR = 22Q - 0.5Q2 

TC = (1/3)Q3 - 8.5Q2 + 50Q + 90

Find out the marginal revenue and marginal cost
